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SCHOLARS ACADEMY

[ General Awareness }

1. fFrafafEa 3 @ o9 a1 3= g It fadvar a8 @7

Which of the following statements is not a characteristic

of soil?

(a) UG APEMAD ISEA (b) Tg Wi-eil A TN
EF-IT%I It is made of minerals.

It is made of inorganic

material.

(0 TEYABFRH () TBIRR QAP TH
PR P12 | el URd gt 21

It covers the earth's surface. It is a thin layer of granular

material.

2. g‘%ﬁﬁmmmaﬁmmaﬁﬁﬁnﬁ
?

In which year was Hunter Commission appointed by Lord

Ripon?
(@) 1883 (b) 1881
() 1880 (d) 1882

3. 1992 ¥ 73 F wRireH rfufraw 7 w@faum o wa
s WiS®} Uargdl o HdUT-1e HI=aar Uer i1
The 73rd Amendment Act of 1992 provided
constitutional recognition to Panchayats by adding a

new clause to the Constitution.
(@ IX (b) X
(@ Xl (dy Xu

4. WgE a?msﬁ'\rrfﬁwm FAO) %aﬁﬁaﬁw
wh;gvf&ﬁ CIE R H?E"{Uf wﬁr
JUITlt” (GIAHS) & &4 § gt faar
The Food and Agriculture Organization of the United
Nations (FAO) declared Koraput traditional agriculture as
a ‘Globally Important Agricultural Heritage System’
(GIAHS) in the year.

(@) 2014 (b) 2012

() 2011 (d) 2013

5. # @ e e snfRat aur @i ud smafte
Tgansil ¥ rquTd & ¥ B ufvutiya far sman 32
Which of the following is defined as the ratio of ‘liquid
assets’ and ‘demand and time liabilities'?

(a) wifaftres gafafy (b) TP AT srguTa

STUTd cash fund ratio
statutory liquidity ratio

(0 SIRfera amdl Al (d) ST T SrguTd

S{UTd asset liability ratio
Reserve Cash Fund Ratio

6. 1991-2 Hugal___ fasemy= 3 &) we farar
™1 Tl
The first___ was awarded to Vishwanathan Anand in
1991-92.

(a) TP [RDR AT REHR

Eklavya Award Dronacharya Award

() 3T DR (d) rofta Tish @ I
Arjuna Award YRR
Rajiv Gandhi Khel Ratna
Award
7. "RIIGRT (Shantaram)' 9 # A f59 @ gr1IR@
U 77
'Shantaram' is a novel written by which of the following
writers?

(a) T SIS Aacw (b) Sff¥rara oy
Gregory David Roberts Amitav Ghosh
(€ Ta W AT FI&

Chetan Bhagat Salman Rushdie

8. Ayl AETa® YBEH (VAR) YU HTITUNT & 1@
H fpar ST 21

Video Assistant Referee (VAR) system is used in the

gameof .
(a) SRbedrd (b) fordpe
basketPaII Cricket .
() @it (d) Pedra
Hockey Football

9. 3rHtaT U A1 TH ¥ 31w STferdl Bt @R & Hagui
B qTER YhadT g o I R WIS IR Foelt BT
ST B
The amoeba pushes out one or more finger-like
projections called protuberances for locomotion and
food capture.

Rrgper gan Rfsaer (b) Mo Rfdasr
shrunken vacuole food vacuole

(0 Usiwred C)

endoplasm pseudopodia

10. a1 & ugelt Aigen Isuura A

was the first woman Governor of Goa.

(a) TSI ATIg (b) Hgar g1
Padmaja Naidu Mridula Sinha
(© PG w=ft (d) TRardarE
Kumudben Joshi Sarla Grewal

11.  UfEd IRIed $d Td W@eR Gy d __ AT gl

There are ___ chapters in the book 'Sangeet Ratnakar'
written by Pandit Sarangdev.

@ > by 7

© 9 (d 11

12, AEFIEIN (Albatross)' TG &1 WA e & & fora @a &
frar ST 32

The word 'Albatross' is used in which of the following

sports?
(a) Tew (b) et
golf rugby
() daRETS G)
fencing polo

13, AR @ 7 ATt & dt, SRy 5w g #t
TSIy A2
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SCHOLARS ACADEMY

Between the 4th to the 9th century, Kanchipuram was
the capital of which empire?

(a) UTSYU (b) UTId
Pandya Pallava
(c = (d) R
Chola cher

14, frafafaa & @ 919 o geae gur i grr fif@a @2

Which of the following books is written by Sudha

Murthy?
(@) &P (b) $eUeT AP AAISIS
The Namesake Interpreter of Melodies
(0 IS 3 (d) HETET

Mahasweta

15, FM IS o1 Ude A &1 97 Frafefea 9 9 foaa
fear smar &7
Who among the following is given the credit for
paEenting FM radio?

unaccustomed meaning

(a) WTeGS (b) TSFa Ta. g
John Baird Edwin H. Armstrong

(c) Td a=l (d) frreYem e

carl benz Nikola Tesla

16. [T goIc UTHTad Wl | BI A1 159 3rvft 82

Which state is leading in zero budget natural farming?

(@ fErR (b) SISy
Bihar Andhra Pradesh
() ®HAled d) Fufeea
Karnataka Sikkim

17.  FafafEd & @ S19-0 (9@ IR & TR0 R
fafea

Which of the following books is written by RK Narayan?

(a) TR (b) @i Ts hgw
angry river Swami and Friends
(€ &S ersar (d) Vg g TG

The Blue Umbrella Roads to Mussoorie

18, fre A ¥ 9IS & sremer ok Wit F wu § FRIWR
| foran 82
Who has taken charge as the Chairman and CEO of
Railway Board?

(a) orar qaf R (b) SrsIfer A
Jaya Verma Sinha Anjali goya!
(© oIfTd PUR ARt (d) ST gIreT TR

Anil Kumar Lahoti Dr. Stay fragrant

19.  gfraT & ugell TyATa & 9a arell el s BR
o Wi & gy i @t W R
The world's first ethanol-powered Toyota Innova car has
been launched by which minister?

(a) @G wirh (b) g g
Prahlad Joshi Dharmendra Pradhan
(© ffas Tead (d) drgw Maa
Nitin Gadkari Piyush Goyal

20. fraept A 5 oo =ram wewifa g fear @2

(a)

Shailesh Pathak

(@

Jayant Sinha

21.

(a)
(©

22.

—~
0 Q
— =

23.

(a)
(©

24.

(@]

25.

Who has been appointed by FICCI as its new Secretary
General?

AR UToH (b) MU FUR
Arun Kumar

(d) 3o Rig RAR
Ajay Singh Parmar

ad fregt

[ Reasoning ]

fau ¢ fawedl # 9 I 3H&R-THE &1 99 B o
fFrafafed @ & vy g ¢) F =M R o gwar 31
DMI, GNL, JOO, ?

Select the letter-cluster from the given options which
can come in place of the question mark (?) in the
following series.

DMI, GNL, JOO, ?

LPQ (b) MPR

NTS (d) OQR

I faped &1 9a+1 3¢ o TR SigR-ag 9 3o It
TR | Yafta g O gIRT R -G Ud SHE&R-THg
| HEfa 71

SBQN : UEVU :: LRFH : ?

Select the option which is related to the third letter-
cluster in the same way as the second letter-cluster is
related to the first letter-cluster.
SBQN : UEVU = LRFH : ?

NVLO (b)
OULO (d)

&R} P I HUISH BT 994 Fifog, o TR H 1
&R Tar & fYad Il ° e 9 @A R
siRgreT qut gt See

D_CT_O_TDOC_DO_T

Select the combination of letters which when placed
sequentially in the blank spaces of the letter series given
below, will complete the series.
D_CT_O_TDOC_DO_T
ODCTC (b)
ODTTC (d)

NUKO
MVKO

ODTTC
TDCTC

I fapey &1 9a1 & o Y 718 enopfar siafifea @
(G BT AT TET B) |

Select the option in which the given shape is embedded
(rotation is not allowed).

=
(b) @l
: IR

it fAif3a e UTaT & TURTLE &Y RWPVIG & =T &
foraT wrar 8 1 3 Ut # ocToPUS @Y fhw U A
feraT sem?
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—
(o)
~

26.

—_~ o~
(oY)
~— =

27.

—
(o)
~

28.

29.

(a)
(@]

30.

(a)

In a certain code language, TURTLE is written as
RWPVJG. How will OCTOPUS be written in that
language?

MEVMRSU (b) QARQNWQ
MERQMSU (d) MERQNWQ

faw ¢ fawedl & @ S9 S@& &1 99+ Fifore & e
sigar ® vy {18 (7) & I WR 31 qhdl 7

25, 150, 145, 580, 577, ?
Select the number from the given options which can
come in place of the question mark (?) in the following
series.
25, 150, 145, 580, 577, 7

1020 (b) 980

1731 (d) 1154

T A3 ge UTIT § PLACARD &t 29-3-23 forar sirar
8, MY DORMATS Y 37-13-40 ferat wirar 81 3+t ge
THT H CONFUSE I fordt U ferar srgm?

In a certain code language, PLACARD is written as 29-3-
23, and DORMATS is written as 37-13-40. How will
CONFUSE be written in that code language?

30-6-44 (b) 35-6-42

32-7-40 (d) 32-6-45

I P BT 999 Bifog ot 7 srepfar gaen o
UyaTaS % (7) F R W St

Select the figure that will come in place of the question
mark (?) in the following figure series.

A <+ [
[ +
* b) LA ]
A ' |
- “
o
d) lA_®

19 T &t U F1 A et e Rt i 81 s
&R BT TG B Wl 'Z'3M&R I Y8 F fAudia gy R B
Given below are three different positions of the same
dice. Select the letter which is on the page opposite to
the page containing the letter 'Z'.

U V P

7 /, ]
zM (114 [v]Y

J (b) V
u (d) P

I, a1 & fUar & st 9= & a1 &1 gférar, St
it 31 Rrar far 9 9w 31 Rawn, Rrar &1 g@dtarn
?%Im,ﬁﬁﬁ?lmmﬁﬁwﬁﬁﬂ

Ranjan is the father of Ritesh, who is the maternal
grandfather of Sunny. Dakshita is the daughter of
Reema. Shikha is Reema's mother-in-law. Ritesh is the
only son of Shikha. Pallavi is Sunny's sister. How is
Dakshita related to Sunny? ]

(b) @f

Aunt Mother
(o d8d (d g
Sister Son

31, Y PHTTd St 3R 39 | vt & & 9 TR &1

N 64 B 1 AIY BT TBAT J1d BIfoTC|

The sum of two consecutive numbers and three times
their larger number is 64. Find the smallest number.
(@ M1 (b) 10
(0 13 (d)y 12

32, frwifera snepfa sjaan & wyfrg & R W 3 aret

STPHId BT TG PIoTTI
Select the figure that comes in place of the question
mark in the following figure series.

e nl_D [ lo D] 3
O <o
(a) — (b) LD
<> <

(© = (d) L

33. U fAf¥a oe umar & 'BROKEN' ®Y 'EUSOJS' 3R

'RASHES' @1 'UDWLIX' & ¥ # forar ot 81 30 Te
HTST & 'CONFER' fpe w1 & R smm?
In a certain code language 'BROKEN' is written as
'EUSOJS' and 'RASHES' is written as 'UDWLIX'. How will
"CONFER' be written in that code language?

(@) FSRKIW (b) FRSIV

() FQRUX (d) FRRIW

34. g &) 7 fie B AisHI TP T4 1 A1 @, 4 3H&RY

BT -1 T [Audid was! w78 ghm?
When the given sheet is folded to form a cube, which
pair of letters will not be on opposite faces?

N
KIMILILIP
O
(@ M3RP (b) L3RO
M and P Land O
(© N3RO d) KSiRL
N and O Kand L

35, fau g wHieRur Y wel wA & forg for @ g bt

MUY A IS ST ATfRT?
15-14+21%x27+9=64

Which two signs should be interchanged to make the
given equation correct?

15-14+21%x27 +9 =164

(a) xR+ (b) +9MR+
x and + +and +
© =9MR- d) + 3R x
+and - + and x
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36.

(a)
(@]

37.

—
Q
=

—
(o)
~

38.

(a)
(@]

39.

(a)
(@]

40.

(a)

(@]

TR 3&R-E for 7Y & ford ¥ i fPedt e & @@
2 3R T 3T B 1 39 3HER-THE BT 99 B, oY 3=
¥ A B

Four letter-clusters have been given, out of which three
are consistent in some manner and one is incongruent.
Select the letter-cluster which is inconsistent with the
others.

DBZX (b) TRPN

NUH (d) CAYV

A, B, C, D, E 3R F &: fim, 9 fi7 v gt ufkmai § 94
gU &1 T ufcrral o 9 gu s & 1g S -wrH 21
CHRUFAFRIFSIHBAREF T AR AT AW B
319 il § & 314 aRi ol # et off oR wR =gt
BT 7?

A, B, C, D, E and F are six friends sitting in two rows of
three. The friends sitting in both the rows are facing each
other. F is in front of C. F is exactly between B and E. B is
in front of A. Who among all the friends is not sitting at
any of the four ends?

A (b) B

D (d) C

faw g faweut & @S9 W& BT 999 BN,
Frafafea saar ¥ uyaree e ) $ ”_IF R 8
HHAl gl

86, 90, 106, 170, ?

Select the number from the given options which can
come in place of the question mark (?) in the following
series.

86, 90, 106, 170, ?

522 (b) 345

426 (d) 380

TS FIf3d e UTT & TABLET &Y 20-1-2-12-5-40 ferar
STaT 81 St He UTHT H RHESUS i fory waTR feran
SITET?

In a certain code language, TABLET is written as 20-1-2-
12-5-40. How will RHESUS be written in that code

language?
19-8-5-19-21-38 (b) 18-8-5-19-21-38
18-8-5-19-20-19 (d) 18-9-5-18-21-36

feu v Jae & 9t gdur yfafds &1 9= Fifee,
el guur &) SHS! S8 3R T@T T B

Select the correct mirror image of the given
combination, while the mirror is placed on its right side.

487321
PZELSD o TSEVES
¢812354 LSEYSBY

(d)

Arithmetical & Numerical Ability

41.

—
Q
~

—
(g}
~

42.

(a)

12% loss

(©

20% loss

43.

(a)
(@]

44,

(a)
(@]

45.

(a)
(@

TS G B ITETG A TR & a6 | 10% 3R 20%1
CIEE dae af s9H 25% &Y HHl g5 | AN 9y
T SFET AR 3 99 gd $ SRS BT Ut 1
Fiforgl

The population of a city increased by 10% and 20% in
two consecutive years, but in the third year it decreased
by 25%. Find the ratio of the population in the third year
to the population 3 years ago.

100:99 (b) 99:100

2:1 (d) 1:1

<t Iure ) faet R g @y 25% 1 afe wa gea
3R fapa e & Wl &1 IRER 9ed fear oimg, &
fram ufasra 9 w1f+ g0

The profit made on the sale of a product is 25%. If the
values of purchase price and selling price are
interchanged, what will be the percentage loss?

12% @1 g1 (b) 16% Bt gIA

16% loss

(d) 25% Pt

25% loss

20% BT g1

T® GHTHGR & 4 HEH § TP R 10% P ge Sar gl
gfe ®I3 sAafed 59 AoHT & dgd U avg &l fearar o
25515 W Wledr 8, @ Sas) # 39 avg &1 URMRIS
T /T Y1?

A shopkeeper gives a discount of 10% once every 4
months. If a person buys an item under this scheme for
Rs 25,515 in December, what was the initial price of that
item in January?

45000 (b)
36000 (d)

T 4 a1, g 3R aret ST A1 et 3N B
APl & I SUT 15 : 32 YT SGfb aret 3R Ara
APl & S SrguTd 18 : 25 AT B IR et AHl &
ata foramm srguTa uT?

A bag contained red, green and pink tokens. The ratio
between red and green tokens was 15 : 32 while the ratio
between pink and red tokens was 18 : 25. What was the
ratio between green and pink tokens?

80: 27 (b) 192:125

16:9 (d) 25:28

35000
40000

X 3R Y A Uoh aqHrd 3RH faT1 x 7 8,000 &1 faw
foar 3R v A 10,000 FT A=t foran| 6 WA a1, 7 9f
6,000 & a1 & ATY 39 I | IS g 471 afe
3 qut § 9,660 &1 ATY graT 8, &Y Z 1 fvar fpam &2
X and Y started a business. X invested Rs 8,000 and Y
invested Rs 10,000. After 6 months, Z also joined the
same business with an investment of Rs.6,000. If there is
a profit of Rs 9,660 in 3 years, what is Z's share?

1500 (b) 2100

1900 (d) 1200
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46. pfrdfied®l 0 AR ABA R 4 RAFH A
F 9Ie, P P BIS a1 & R QAT B BY 9 A A @
Fal g1 afe ITIA IRE3ATd A TP 1Y HTH fHar gian,
@ PRl g $3A A 3% fbaA faa o g1
P can do a work in 10 days. After working for 4 days, P
leaves the work and Q completes the remaining work in
9 days. If they had worked together from the beginning,
how many days would it have taken them to complete

the work?
(@) ofd by 7
9 days 7 Days
(0 efe d) sfe
6 days 8 days

47. 50 Wex 5 gY 910 TP d4d-R |, 10 Al gy
fArTa®R 10 dtex urit STar s 31 9fe 539 uftsar &
T IR SigTaT 9TaT §, 4 Sidd: U SR gy & i
T U 3 ?
From a container containing 50 liters of pure milk, 10
liters of milk is taken out and 10 liters of water is added.
If this process is repeated three times, what is the final
ratio between water and milk?

(@) 7:16 (b)y 9:16
61:64 (dy 1:4

48. e THI b1 Y UTSUI GRT TS WY 45/4 i & wRrwm
THdT 8| IST UT3U DI UISY &b YPHIad bl Bl 12
firTe o9 9Wg # WR Pa1 81 98 UTSY gRT <P HI
P WA | = oy T
A tank can be filled by two pipes together in 45/4
minutes. The larger pipe can fill the tank in 12 minutes
less time than the smaller pipe. How much time will it
take to fill the tank through the bigger pipe alone?

—
(o)
~

@ 30fFe b) 12 fe

30 minute 12 minutes

© 18fiFe d) 24fEe

18 minutes 24 minutes

49.  4.5% Ufd af B R | 4 a9 6 AEA A 2400 WR YT B
T JTYRT ST 4T 2

What is the simple interest received on Rs 2400 in 4
years 6 months at the rate of 4.5% per annum?

(a) 486 (b) 816

() 796 (d)y 926

50. 16400 B AR IYR o w1t § 3R 3/ 5% TH gl saTS
Pt R A g T frzat & 2 aut & goHrr S 2|
e T Bt IR F1a P |
A sum of Rs 16400 is borrowed and is to be repaid in 2
years in equal annual installments at the rate of 5%
compound interest. Find the amount of the annual

payment.
(@ 7590 (b) 7495
(c) 7600 (d) 8820

51. T AT 3R G Y 3y # 20 T 7 SieR 31 Uig a9 1g
T B 31y, STDT A B adA g | ameh gt TR
P g i 87

There is a difference of 20 years in the age of a mother
and daughter. After five years the daughter's age will be
half her mother's present age. What is the age of the
daughter?

(@ 15a9 () 129¢

15 years 12 years

© 1099 d) 8Ty

10 years 8 years

52. AR WWATST a, b, ¢ 3R d BT 3N 26 8131 a 3R
b T 3N 19.5 8 @ ¢ 3R d T 3 gR:

(a)
(@]

53.

(a)

320 km/h

(@]

320 km/h

55.

(a)

12 km/h

(@]

4 km/h

56.

(a)

49 cm?

(@]

35 cm?

57.

The overall average of four numbers a, b, c and d is 26. If
the average of a and b is 19.5 then the average of c and
d will be:

33 (b) 355

31.5 (d) 325

14 HieR Ufd Abs B 7fd ... PRI
The speed of 14 meters per second is equal to.............
46.6 fordll/der 466 (b) 50.4 fpHl/ger 504
km/h km/h
70 fef/ger 70 km/n (d) 28 faHi/EeET 28 km/h

TS gae o1 5 o1 12 6 & 3rueit aram gft et 21
3R 9% 30 fomeit /deT dsit | g & 4t 10 et 40 fiFe
T T O3 &R A, A O HRA H 12 9¢ WH W oA
o1 T & A

A bullet train completes its journey in 12 hours without
stopping. If it travels 30 km/hr faster then it will

complete the journey in 10 hours 40 minutes. What was
the speed of the train if it took 12 hours to complete the
journey?

320 fopHt /dier (b) 180 fbHt eieT
180 km/h
(d) 240 foeft eieT
240 km/h

TS 919 Bt URT o1 ez & 16 frft st g g s A 2
He @ & SR o1 F1 faudia fezn ¥ a6t gt au v
W 4 4 T € | YRT BT IS 71 B

A boat takes 2 hours to cover a distance of 16 km
downstream and 4 hours to cover the same distance
upstream. Find the speed of the stream.

12 ftdit/ger (o) 2 foddi/der
2 km/h
d) 6 feui/ger
6 km/h

gfe feht Ays &1 afvary 28 Jft 31 39t era:fsan
3.5 AW B 1 39T QA% FId PIfeE|

If the perimeter of a triangle is 28 cm. Its inner radius is
3.5 cm. Find its area.

49 HHY? (b) 28 TP

28 cm?

35 AR d) 42 aHR

42 cm?

T 3iep areft frat T 9 | fayfora gidl 87

320 fopt ger

4 fddi/ger
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How many three-digit numbers are divisible by 9?
(a) 100 (b) 95
(© 90 (d) 105

58.  SUYEd a9 W I BT HI g=ITa 8, WY UH Bem | 3
J/A M, N 3R L D &1 ¥ N QoA ardt Bl &t o

ST 3-

The above Venn diagram shows students who play 3
games M, N and L in a class. The total number of
students playing game N is-

&

L
64 (b) 41
9 (d)y 23

(oY)
—_ =

59. WM cosecd - sind = P 31} secd - cosd =q gafwad

P HE 77

If cosecB — sin@ = P and secB — cosB =q, then which of

the foIIowmg is correct7

sinBsechH =

L=

— =1
@) (p* q) (pq) o

. 1 2 2
sinBtanf = = d) (p'q)® +(pq*) =1
(© a

60. T8 YT JId BT,
(1, 6) 3MR (6, 1)ﬁﬁﬁsﬁmﬁiﬂ@m§ﬁﬁ'&nﬁa

A el

Find the ratio in which the line 4x + y = 13 divides the

line segment joining the two points (1, 6) and (6, 1).

(@ 13 (b)y 25
(o 23 (dy 14
[ HINDI }

61. TreiRn : fau U v ¥ 9 9% W ger R w §1 R

ot faweat &t WeTaar | U@ = ¥ fore ged

I fawer &1 999 S| g faar 18 =nfgwi (1)
TR UM gdd I g faRi®i )

A A B SaaEar 71 SR, R,

FATPRI, FRITR] B, St ST (3) PP |
TH Jd 99 a1dl, 9S % 99 Tl SHRA T3t B

Il PREM SR dal Pl oRaelgd 4)
PrERALISANTG)

e =T (1) & g 9ERie Suged Ieg 81T
(@) foaw (b) I
(© SR (d) SMR

62. TR & Yo R (2) & fore watfis Suged zeg

U
(a) DI (b) feparfaa

Mob. - 01141676717,9312712114

o ¥ 4x + y = 13, @ faegait

P TRRA B T F

(@]

63.

(a)

(@]

64.

0 QU
—_

65.

(a)
(©

66.

(a)
(@]

67.
(a)
(@

68.
(a)
(@]

69.

(a)

(©

70.

(a)
(@

(@]

72.

Hifad (d) Prifad

faT T e ¥ Y@ifea s # afawafa s & fore
e SUYTd faped &1 9a &¥ | afe 31 ufawafia

P B! ATTWHT 8l &, A fIPpeq agama ot
JTATGHdl TE] &' BT IUH B | I:-: IAP! fa=m
farsdt 7

et ggama =t (b) <=M
JTaxged gl g1

gh=m (d) feam

M E s Frumd e MR i g
PTH ) 81 FehdT |
Ao (b) TR R
B gadt| (d) &gl
yfasr #t ek gg-1 Trfen | Rea == & gfd
3 v A Fifore-
Jerdm (b) HEB
3R d) S=ad

R feu areiw & foe ve v feu e faseai A @
g I w8

Tge ) frmed=

IEUCIE] (d) U

138 72 arerie & forg T wreg YT Tite ferar g
HEd (b) T
b (d) dTedd

g T are 1 77 YT 919 I o PSR 31 Al
aﬂézﬁﬂ%’r%?ﬁaﬁézﬁqﬁ% e B g
ﬁmﬁﬁ TR el T

(b) TIYeRt =TT
aﬁ'é‘zrﬁﬂ'e"r'% (d) R
fou U are A Waifed Ts & ufewuiig #31 F o
a9 UG fadpeu o1 ag= B3| afe 32 ufouria
P B! TR 8 §, A fapeq forelt agara &1
STARGH T 8] & BT TG B | TSI A1ag YR BT

PIfpar wer Srar A

YR Pl BifPardal (b)) A ggam@ 1
Sl oY STazgehdT gl gl
YRA S PIfBAT PGl (d) HRA B Difha dgl
STl ot Srar A

3 foreeT yafgars &2

3THT (b) TR

3d (d) udd

TG AT YeTa¥ HT et 3 8-
é@%uﬁraﬁﬂa b) SRIRT BT
RaT @1 (d) g 3merT

mwmmﬁmmﬁﬁﬂﬁﬁégﬁélﬁ
IS 3 1G1 8, @t PIg qfe g & I | I Y (1)
aifeit fe=n & () / A< 812 3 /ﬂﬁiiﬁ%"f% @)
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SCHOLARS ACADEMY

(a)
(@]

74.

(a)
(@]

75.

(a)
(@]

76.

—
Q
=

—
(o)
~

77.
(a)
(@]

78.
(a)
(@

79.

(a)

80.
(a)
(@]

81.

1 b) 4
3 (d) 2

3T 1T 2reg & THTTRT 2sg &1 TG B gt
R (b) Sredt

Yrid (d) fet

o 9 & S umT A Ffe 3 2 T wich @Y

?;gﬁ?ﬂﬁ\_rﬂ?n%l
wrgfirar

HET

%ﬁ;ﬁwﬁnﬁiqﬁm$mwm

(b) TETT TR
(d) ETgl

He<H (b) TYH

RE-GE d) fraaw

& T qreir & oY U weg i | T € At ot
@A AT gL T

TR (b) M=

IR (d) Wl

TEY aai-il AT Xeg BT AGT P}

ot (b) ufurfa
gfAfa (d) B

g ot AT GETax BT wat 3w F?

HaT @1 (b) WIS UHE BT
g & SrET (d) SITRIT 9 TG

feu v gt W Ywifed @s # ufauiug #39 & forg
A Iugad fdbed &1 9= B | afe 32 ufeuria

B P ATAIDAT 181 ¢, df fApey THdt agama ot

SISl T8 & PTG BT | U4 S=ad HiaT &
T, §URT IexT WHadT UIfey g+ 9 ul

Jwadr Ui gi=m (b) HEdT B UT gt

aiful R

it g #t (d) HPedl uTe gt
HTIIH T T8 2 Ll

Il BT fIa <reg ghT -

Sd (b) gu

T d) fora

engisn |

Comprehension : In the following passage, some words
have been deleted. Read the passage carefully and select
the most appropriate option to fill in each blank.
Technology has made our lives simple and fast. The
biggest (1) has been the development of the
internet. The internet is a (2) of technology. It has
brought us closer and people sitting at (3) corners
of the world can easily communicate. It facilitates
shopping, money (4)____, online learning etc.
Cybercrimes are a result of the misuse of the internet.
Children’s (5)_____to online games is another major

(a)
(@

82.
(a)
(@]

83.

—~
0 QU
— =

84.

—
Q
=

—
(g}
~

85.

(a)
(@

86.

(a)

(@]

87.

(a)
(@]

88.

(a)
(@]

89.

(a)
(@]

90.

problem faced by parents today. Select the most
appropriate option to fill in blank no. 1.
contribution (b) value

hindrance (d) supply

Select the most appropriate option to fill in blank no. 2.
asset (b) favour
burden (d) boon

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error. The penalty for / not wear masks / in
public places / should be increased.

The penalty for (b) should be increased
not wear masks (d) in public places

Select the most appropriate option to fill in the blank.
The situation became after the scuffle between the
farmers and the police.
smooth (b)
sad (d)

serious
funny

Select the most appropriate option that can substitute
the underlined segment in the given sentence. If there is
no need to substitute it, select ‘No substitution required'.
Please don't confuse me by giving so many different
directions.

with giving so many (b)
by give so many (d)

No substitution required
by giving so much

Select the option that can be used as a one-word
substitute for the given group of words. An area where
fruit trees are grown

Farm (b) Orchard
Field (d) Garden
Select the most appropriate option to fill in the blank.
War and Peaceisa_____ written by Leo Tolstoy.
notable (b) distinguished
celebrated (d) masterpiece

The following sentence has been divided into parts. One
of them may contain an error. Select the part that
contains the error from the given options. If you don't
find any error, mark ‘No error’ as your answer. By this
time tomorrow / we will have / reached to Delhi.

By this time tomorrow (b) No error

we will have (d) reached to Delhi

Select the most appropriate synonym of the given word.
Remedial

Harmful (b)
Corrective (d)

Medicinal
Superficial

Select the option that can be used as a one-word
substitute for the given group of words. To reduce to a
shorter form intended to stand for the whole
Abbreviate (b)  Shrink

Mob. - 01141676717,9312712114
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SCHOLARS ACADEMY

(¢) Protract (d) Extend

91. Select the most appropriate synonym of the given word.

Recover
(@) Remain (b) Retain
(c) Refrain (d) Regain
92. Select the INCORRECTLY spelt word.
(@) Fright (b) Freind
(c) Freeze (d) Frigid

93. Select the option that can be used as a one-word
substitute for the given group of words. A means of
altering one's appearance to conceal one's identity

(@) Dress (b) Drape
(c) Distort (d) Disguise

94. Select the most appropriate option to fill in the blank.

Mother’s back was too ______ to work any longer, so she
lay down to rest.

(@) sore (b) sick

(c) sour (d) soft

95. Select the most appropriate meaning of the given idiom.
A dime a dozen
(@) Something whichis not (b) Something which costs a
expensive dime
(c) Something which can be (d) Something very
bought only in dozens common or of little
value

96. Select the most appropriate option that can substitute
the underlined segment in the given sentence. If there is
no need to substitute it, select ‘No substitution required'.
If we are not clear about the exact meaning of a word,
we should look into a dictionary.

(@) look of (b) look to
look up (d) look on

—
0
~

97. Select the most appropriate ANTONYM of the given
word. Dispute
(@) Trouble (b) Doubt
(c) Agreement (d) Confusion

98. Select the most appropriate meaning of the given idiom.
Maiden speech
(@) Unprepared speech (b) Last speech
(c) First speech (d) Madam'’s speech

99. The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error. The children were / bubbling with
excitement / at the thought of / seeing sea.

(@) bubbling with (b) seeing sea
excitement

(¢) The children were (d) atthe thought of

100. Select the most appropriate option that can substitute
the underlined segment in the given sentence. If there is
no need to substitute it, select ‘No substitution required".
The farmer walked beside his bulls, isn't it?

) did he (b) No substitution required

) didn't they (d) didn't he

—~
0 Q

[ Basic Familiarity }

101.  3riteT fp o &1 Ul g U

Agroha was the famous center of which religion?

@) Buddhist (b) ¥ sikh
(c) é‘m‘{ Christian (d) ETI'I?I J aﬁ% qﬁ none of
these
102. P9 It Rurad 1857 §. Bt wifa A wnfere 78 &, e
39 Raraa &t siiel A S forar ur?

Which princely state was not involved in the revolution
of 1857 AD, but this princely state was snatched by the

British?
(a) GO Dujana (b) U} Pataudi
() W@IGYG Bahadurgarh  (d) Mg Jind

103. gﬁvmﬁaiﬁaia%ﬁmmﬁﬁw%@rwﬁm

What is the formation of the Tarangit sand plain in

Haryana?

(a) dTIg T STHIA deposition (b) dTY BT UG erosion
of air of air

(c) oI UG water (d) ST T water wave
erosion

104. goat gt & o < ) uig et @2
Which soil is present in light soil?
(@) iﬂ'-ﬂ'ﬂ? sand-loam (b) Gﬁ&miﬁ-m
relatively sand-loam
(o & 3N & aT-ﬁ Both'a’ (d) WIgX Khadar
and ‘b’

105. 1oy @1 [P Sid W arex Nel Bd P S191 7141 872

Water polo sports center has been built on which lake of

the state?
() ds@d e Badkhal (b) SHEHT 3@ Damdama
Lake Lake

(c) H"TUf?gﬂ?[ Karna Lake (d) aﬁmgﬁa Kotla Lake

106.  GeAMYR AT ST B 3= {5 19 | AT 1€l 82

By what other name is Sultanpur National Park known?

(a) W @ vaft (b) wehH 3reft uaft
SHIRTY SIHIRUY

Aga Khan Bird Sanctuary Dr. Salim Ali Bird Sanctuary

(0 YwTP et uah (d) SWIEd I PIS o1
SHIRUY none of the above

Mustaq Ali Bird Sanctuary

Mob. - 01141676717,9312712114
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107.

—
Q
-

—
(o)
~

108.

(@]

109.

—~
N
~— =

110.

(a)

(@

111.

(a)
(@]

112.

(a)
(@]

113.

(a)
(©

SCHOLARS ACADEMY

gﬁuwnﬁmmmmmmﬁﬂw
?

Which is the most productive district of Mango in
Haryana?

HIAT Karnal (b)
3dTdT Ambala

YYATTR Yamunanagar
(d) U™PdT Panchkula

T WER 59 SHIHH & dgd fear) o @dl d
qIsUarsH I8 &1 Meafed w1 & fore fasfa

e Ye P W1 87

Under which program the state government is providing
financial assistance to farmers to encourage laying of
pipelines in the fields?

WATAUGYTWROn  (b) UTSUATS TIST
Farm Water Pipeline planning
Management

E'Gﬁ?'ﬁ'?a:ﬁ’a’and (d) mﬁﬁaﬁéqﬁr
‘b’ both none of the above

givaron A firad| 9 wel 99 32

Where are Liberty shoes made in Haryana?
SIETAT Ambala (b) UIId Panipat
YTR=8 ST Dharuhera (d) AT Karnal

TREYR WRHTY Soit URESHT &1 $o T b 87

What is the total capacity of Gorakhpur Atomic Power
Project?

2000 TRTMETE 2000 MW (b) 2300 RTTIETE 2300 MW
2800 WRTETE 2800 MW (d) 3200 RITIETE 3200 MW

i%%ﬁﬁ-ﬁﬂ“d-ﬁrﬁwiﬂ%mma@mqaﬁqm

Which is the main junction of Delhi-Jind-Firozpur railway

line?
A8dP Rohtak (b) SiEJind
ST Jakhal d) A FH All of them

e =t | a1t 0 @R

A. et fauraT 1. Wy Rig

B. Uiard} et 2. Feia v g

C. T Ry 3. gRifEer Rig agn

D. |Tad! fAUm=aHT 4. WRER a1 Rig

PIS ABCDABCD

Match List | (Assembly) List Il (Speaker)

A. Fourth Assembly 1. Swaroop Singh

B. Fifth Assembly 2. Col. Ram Singh

C. Sixth Assembly 3. Harmohinder Singh Chaddha
D. Seventh Assembly 4. Sardar Tara Singh

code ABCDABCD
1234 (b)
3241

1243
(d 4123

YR G AU & 3¢ 165 & TR, AT Bt
fPrafe frad grT @t et @2

According to Article 165 of the Indian Constitution , the
Advocate General is appointed by?

ﬂ'@l’ﬁ?ﬁ Chief Minister  (b) XTS9UTd Governor

AFUfd President (d) T Afad Chief

114.

116.

117.

—
(g)
~

118.

(a)
(@]

119.

(a)

(@

120.

(a)

(@

121.

(a)

Secretary

frafafad & @ o9 91 U™ 1 3= Sa €7

Which of the following is the main industry of

Gurugram?
URfd BR Maruti Car ~ (b)  §d Utensils
wHEgfeHeE d) TaW all of them

pharmaceuticals

ghaTon & {5 @ieR W U6 S &1 yae &7

On which festival kite flying is practiced in Haryana?

GRIERT Dussehra (b) Ifce ROMT Kartik
Purnima

T UTH Basant d) Bl Holi

Panchami

TS Td B ga) R u1fife saRd o @t 82

Which is the oldest religious building of the Mughal

period?

PN A& (b) WTERY ARG Lahori
Kabulibagh Mosque Mosque

faeeht 7fTg Delhi (d) FTH ¥ PIY AGI none of
mosque these

FRATIT PR gRT A1eR Rig fobdd oY eest glea &1
gart fore adf feam wwa ur?

In which year Nahar Singh Fort was given the status of
heritage hotel by Haryana Government?

Ty 2003 year 2003 (b) a¥ 2005 year 2005

ay 2007 year 2007 (d) a¥ 2009 year 2009

MPTAYR AETT 7S Bel YT 37

Where is Srikaleshwar Mahadev Math located?
3fETAT Ambala (b) UTUH Panipat
JYATIR Yamunanagar  (d) Qg Sonipat

shamon dvaw fFae! uge Hidar
Whose first poem is ‘Haryana Vaibhavam?

4. geugq afkig pt. (b) Y. RreRm TRA Pt
Satyadev Vashisht Shivram Shastri

. faemmeR g pt. (d) wTeaTER
Vidyadhar Shukla Madhvacharya

Frafafea d & o9 vgHsa @l § Wl ugs
(GFpaTel) S aTaT g9 $H 39 &1 fJare 82
Who among the following is the youngest player to win
a gold medal (boxing) in the Commonwealth Games

'\Tﬂﬁ@":ﬂ? Sunil Kumar  (b) Gﬂﬁ?gﬂﬂ?ﬁtendra
Kumar

TRT WEPT Gaurav (d) SHfHrd duTe Amit

Solanki Panghal

I Fifer &1 9 w1 37

What is the argument of Carol Gilligan?

AT AR ANTE (b)) Afdea R AR

AR sy s & WA & forg Siaat 3

o Faa geul & Saa Afgarsi &

ISERUN PT eqd IegRul fergl only

Mob. - 01141676717,9312712114
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122.

(a)

(@]

123.

(a)

124.

SCHOLARS ACADEMY

faar1 Kohlberg studied
only male samples to
catch their moral views.

female sample took by
Kohlberg to know the
views over morality.

FRaRAREST  (d) Baw S I DS
il & Iggrur e ISR 8} 4T, IBI
et sy 18 ad @ 3 Rygid &t e
3 2ft1 Kohlberg T | wRarfad fean

took the samples of only
the people who are
more than 18.

Kohlberg doesn't have
any sample, he
proposed his theory by
his cognition.

4qUT IR & foIT H&fT AR FT DI A1 R
waifere guTdt 87

Which space of classroom arrangement is most effective
for hearing impaired?
AP Circular (b) 31¢f FATHR Semi

circular

(d) PR Square shape

fFafafEa # 4 o W oY= e S Ay F IR &
3 B

Which of the following statement is incorrect about
Piaget's belief?

SIIdTP R Rectangular

TH AT TR (b) TFFITHD Ye=iH a9
ARIT & fAHT BT q® UTe el foar o
ST Tl Tt ] TPl 99 aF &

One stage does not infer yftuepdr 3R qafavoiig
the development of to WWW
next stage. mqﬁ?ﬂ%\_ﬂ?ﬂ'%l

Cognitive performance
cannot be attained
unless cognitive
readiness is brought
about by matuation and
environmental stimuli.

TAS AARTA A B (d) SURIGd & & DI g1

Tﬁmﬁ HTAT None of the above

3R Tura gl H

JawITe fir g1t 31

The stages differ in both

quantity and quality of

information acquired at

each stage.

oft uw A 9ft wem ® @R yatue @ 91 & e
fRiT-ga HToT BT AT {1, ISP RIS R Wi
woH Y 3k gz gifia fan for Tt ol &) wen &
Suaey el SR fafte fafaftay & art-arft &
HAF 11 BT AR At | 71 faermera uove v wam
& 1y Wt 7T B T ATl SnTa 9y, off gpuw A A
5 98 39 Hensii ° A P H ygM F1 favey g7 9ad
g1 Topa-form weamelf & Jey A Fafafa s ¥ s o
FYT TG T 37

To avoid gender bias in his fourth-grade classroom, Mr.
Shubham used gender-free language, provided positive
role models, and ensured that all students had
opportunities to engage in various activities by rotating

Mob. - 01141676717,9312712114

(@]

125.

(@]

126.

(a)

(@]

127.

(a)

(@

classroom jobs and activities. His school was also
experimenting with single-sex classrooms. Next year, Mr.
Shubham thought he might opt to teach in one of those
classrooms. Which of the following statements
concerning single-sex classrooms is NOT true?

FOA B QP FAWR (b) THA-RAT wem & Rigror

THd-FeRT Heqaif &1 S fAfda-form wem &t
SfARTH, RO SR JeTa T H S 81 81
TR PRTHD YHId Teaching is not easier in

ST 81 Single-sex
classrooms have positive

a single-sex classroom
than it is in a mixed-sex

effects on learning, classroom.
motivation, and

engagement if certain

conditions are met.

gl ol fiRivwud  (d) THa-famveamsi &
T fasiy T & ol B ARR YA R
¥ fog daw Rgror YUTG ST & IR |
Turiferal &1 ST w4 fifaa gid 81

DT ﬂﬂ%‘l‘{l Teachers
must use teaching
strategies that are
geared specifically for
students of a particular
sex.

Students in single-sex
classrooms are often
less concerned about
making impressions on
peers.

TP WIfaRiie wem & =T § Riere e gar
JTATaRYT UG RSP STRTH Bt JIAYUT g FHvar g &

In a progressive classroom set up, the teacher facilitates
learning by providing an environment that

WO HlgeE@rearsl (b)) uaEUTHAS Bl is
promotes discovery restrictive

AN DI galcded  (d) Sed BI GieATied
HAT discourages PRar el encourages
inclusion repetition

39 fYed =M &) 1A F fore g 3res1 faey 87
Frafafea & @ 19 7= 3 3% 3= 319 F1 394G
HID THT BT GATYTH HA B Al 3a &
What is the best option to fill in this blank?

of the children allowed him to cater with the
problem by using their knowledge.

qﬁ 3fJHd Previous (b) QT&W Teacher
experiences
Peers of (d) UWW Textbooks
children
1 P BETH:

In a child-centered classroom:

WA Hufpmer v sEnfAfesgadiaa:
¥z g e ar g = afer Ham uferar &

f& S=11 The teacher q%a%mﬂmuﬁm%l
and not the child is the The child is not a

focus of the entire passive but an active
process of teaching participant in the
learning. classroom process.

qgi APpdi® ATeld (d)  FRraror-3rfnTH &1 deg

Page 11




128.

129.

(a)

SCHOLARS ACADEMY

T8 afer Frigw wdla
glar g a1f a=d 3t
P& 3= gl & 1Y
Sia:fora & frpan
g A | There is not
a democratic climate but
an autocratic climate so
that the child gets
maximum opportunities
for interaction with
other children in the
class.

Fad gl DI I T
P | GG AT A
& safdaw & wafifior
far™T P FeraT AT B
The goal of teaching-
learning is merely
helping children to
acquire knowledge and
not to promote all-
round development of
personality

YTaT fUrod IR 301 A TF & UTe TRi&0T H U fad
3 (3/10) WTW BB SRATO0
H 3T FIIY Ue=H #e1 & fore Ut srayronait &Y
TR T P I F TG &, S/ T HeAT AMRY?
Bhawna is failed with having a constant score(3/10) from
last four weeks in same lesson test, she is trying to
improve her concepts to perform her best in next
examination, what should she do?

3=t ey SR
el Ht 7 B4 IR
31 R T & Bt
DI B AR
Catering and trying to
reduce her mistakes and
errors

W 3D 3P ¢ F forg
e | SrRIY HIAT
ﬂT%EI She should have
to request the teacher
to give her good marks.

(b)

(d)

Bl 8, a8 erTel wfian

UTS B1 BIS &1 A11eT
3R 3ATA UTS Ft IRG
deHT ﬂT%'EI Leave the
lesson and move to the
next lesson.

mfwmaﬁﬂ
T ? 3R I oo+
T3TE SIS 3t A1
Bhawna is not a
intelligent girl and she

should have to leave her
study.

@ (A): e 7 fafte afafafim, smeem ok
TS 3R A f=a= arel ueii &1 SuanT
FXD AU WG 76 B F wR P! AR & g

U &M F BT 1 WIS THaT a1 o1 ok fan
PRI (R): TATHS GiH ST & SR § FUR
P & Y (<37 &, I§ TR RATH FT 3aaid g1
e 7 for 3wl g1 fAvla ferar sm anfew|

Assertion (A): Nikhil decided to take the monthly tests of
the students of his class to know the level of their
learning students using different activities, assessments,
and critical and logical thinking questions.

Reason (R): Formative assessment is good to improve the
learning of the students, it should always be the
observation of learning not judgemental by marks.

(A) 3R R) T A T,
3R (R), (A) B T
@21 (A) and (R)
both are true, and (R) is
the correct explanation
of (A).

(A) 9 & AP (R)
SRAT 81 (A) is true but

(b)

(d)

Mob. - 01141676717,9312712114

(A) 3R (R) I FA B,
Al (R), (A) BT T
T8I 81 (A) and
(R) both are true, but (R)
is not a correct
explanation of (A).

(A) 3R (R) T SRT
&1 Both (A) and (R) are

130.

(@]

131.

(@]

132.

(a)

133.

(a)

(@]

134.

(a)

(R) is false false.

YT ThTd AT ) JTeAT B 3R U 1 F forg
e fFgr 31 e faaaefPas s

Radha is extremely unwilling to share and prefers solitary
activity. This indicates that she is

TFAPAITAB A (b) TH FIPd 90D A
popular child rejected child

T® swig 9@ A (d) TP UY TAD A happy
jealous child child

W—WWWWNMWHWﬁW%?

Frequent blinking may be a symptom of which

impairment?

9T GV Hearing (b) SARATH Sferwrar
impairment Learning disability
WﬁqVisual (d) WE-'N Speech
impairment impairment

TP 9 B SHS ATd1- U1 T &1 B & forg wgd
T I=IT U@ § 59d A e @ g7 ok arar-fuan
= B Fe SHT MTe UgH & &1 T8 Lol
e BT B

A child is asked by his parents to do a chore. The child
asks “what'’s in it for me?” and the parents offer the child
an incentive by giving him an allowance. This expresses

SATFIHINGT 3R &S (b) Sfufa=ar

SIFUfI=aT Obedience- Instrumental Orientation

and-Punishment

Orientation

P 3N TR d) 3T ASHI, DY

ST Law-and- asa?r SfHfa=TT Good

Order Orientation Boy, Nice Girl
Orientation

I TR BT HTH FIA A FART ¢ | TR DI R IA S
forg Frafafea 7 9 fara Torfifa @1 S fear s
|l 87
Anu is reluctant to do homework. Which of the following
strategies can be used to overcome the problem?
PIFTUGEPE (b)) DR BT IO ¥
Provide special coaching 3R ITEARTHS IUTY
24 Analyse the reason
and take remedial
measures
aTa-foraT &) gfaa &3

Inform parents

T R1grd g & faR) &) Afdear $ ufa Fa
TP BT IPHa1 g2

A teacher can catch the thoughts of children towards

JHHT P ST BY

Neglect the problem

(d)

morality by-

1 glaur Y 9t (b) I Rgnfasi # wfra
TaTHR 3R R b by engaging them

T A DI I into academics

YD DX telling the same

story of Heinz dilemma
and ask their opinion.
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135.

(a)

(©

136.

(a)

(@]

137.

(@]

138.

(a)

139.

(a)

(@]

SCHOLARS ACADEMY

S 3F Afde ARl (d) ol 3l EfSa S
P UTW H3 & g punishing the students.
HITATHD IATHRY

making them emotional
to get their moral views.

SfeRTH F yyifad 1 aran Faferfaa d § e1=-ar
PR TG PRS 872

Which of the following is an environmental factor which

impact learning?
HAIHTG Attitude (b) TR Motivation

HfRId T&UT d) fa=merd school

Personality traits

Which of the following is not an aim of teaching ?

Frafafea % 3 o Ry s13Exa T8 32
Pre - active stage 1171‘ - (b) Inter - active stage 3R
afeba srawT - |Afehg AROT
Post - active stage Ug - (d) None of these Fl'ﬁ T
|ferg TR PIS Tl

Education as an investment aims at

MR s wudReTsIsEad
enhancing productivity ~ (b) cultural development

SdTGHdr d
development of
democratic outlook

3|
oo

(d) satisfaction of learners

Rignfiar @1 wgfd

A teacher can identify a stressed child when the child
shows the following behaviour.

TP e TP dHTaR 9= B UgdH B Il g o

o1 frmfafed aasR e 81
aggressive behaviour (b) Full concentration in
SThTHD HdgR studies uzrré - | 1{\&
THTIT

(d) Hyperactivity Sfshaar

Excessive talking

i g1d BT

Parents of Raju says that he is introvert. But his class
teacher says that Raju talks a lot in the school. What
does this mean ?

% ATaT-fia1 1 B ¢ [P a5 saddl 31 afea
ﬂmﬁiﬁvmaﬂvwm%%ﬂqwﬁa@aaﬁ
Pl 8 | SHPT T HAAd @ ?

School provides (b) Children feel no
opportunities to restriction in school &=l

children to talk a lot ﬂ'ﬁﬂ'ﬂ?ﬂ%ﬁ? i
o g &I agd ARt P1g ufaay T8l
I1d B & TR UgH

AT S

It is compulsory for (d) Children thought get

children to talk a lot in acknowledged in school

the school =i ¥ farg ﬁﬁmﬁ?wi}l
o ¥ 9gd IR ard i foram wimg
AT A §

Mob. - 01141676717,9312712114

140.

(@]

141.

(@]

142.

(a)

(@]

143.

(a)

(@]

144.

(@) To persuade L CICk ] (b)
ferg

(@

A teacher finds some of his students exceptionally bright
and intelligent. How will he teach them ?

TS & U T8 Bl B SATURU U A I=qd
3R AT urar 31 98 3% o Rargm?

Along with higher (b) Using enriched
classes 3 HETAT & curriculum HH&
Y TSTHH T STANT
HIAT
As per his wish ITPT (d) Along with rest of the
FOIAR class Tt 97 & TqTY
What should be the goal of a teacher ?
Rigre o1 aga 1 g1 AIfRW?
Help children in learning (b) Understand individual
=i @1 da- | dag differences and learning
2y styles 3R 3R
Hra o el ot T
Develop knowledge and (d) All of the above IWRSP
skills in all areas of Tt
development e &
|t &= § I 3R
P faw i o

To enable children to learn on their own and sharpen
observation skills, which of the following is the best way

g ) T T T S 3R Saee B Y aw
P4 | HaH B & forg, fAafefed & @ #19 ga9
3BT BT 27

Simple demonstration (b) To ensure discipline in

and experiments A the class H‘T&I'l'ef
SR g B
& forg

To follow what is being  (d) To organise guest

done in the senior class lecture 3ffafY saT=ATH

afvg @it & <Y farar = BT ATATSTH BT

TET1 ], SUST UTe

BT

As a teacher you always say that students should play
game also. Why do you say so ?

TS 18/ & U H 31y gHRN Hed & [P BHl o @d
oft G T1fge | 3y ST R PEd & ?

It makes them physically (b) It makes work easier for

strong g teacher g ﬁT&ﬁ? *
Y Y HoIgd 99141 @ g &0 Y smaE
EEIGIE

It makes work easier for  (d) It develops co -

teacher 98 fR1&1® & operation and physical

o & 3t A balance g Hg-HdTe

EEIGIE 3R R Tga
feRa Frar e

Which of the following is a better way of teaching ?
FrafafEa & @ 19 a1 e o1 e dga adier 37
To raise a question T
GEISS & forg

Blackboard writing (d) All of the above FIWF
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P AT Rkt

151.  The term 'curriculum' in the field of education refers to
145.  The emphasis from teaching to learning can be shifted to Rren & a7 # ureuwH WU FT A 7
learning can be shifted by (@) methods of teaching (b) overall programmes of
ﬁ[&l’UT ﬁﬁ[&l’m W\‘rﬁ?ﬁtﬂ\?ﬂ ghdl % MR ﬁT&M Cal and content to be the school which
WWWW% taught Rrgor & T students experience on
(a) focusing on examination (b) adopting child - centred ﬁ?Maﬁm a day - to - day basis
results TRY&HT f pedagogyﬁﬂ"ﬁ"ﬁ?{ EiEikd W%W
R ST $Hfd ST 1 - Hfa Rrammea St ol B fe &
(c) encouraging rote (d) adopting frontal STYR IR 3JHd ﬁ?f%
learning teaching @ellc fQI&I'UT (c) evaluation process (d) text material to be used
HIAT B UM i ufehdr in the class B&TH
SUGRT Y S areft
146.  When a child 'fails’, it means TSy AT
W4 IS g1 o gl 8, 9 SUPT Haad &
(@) the child is not fit for (b) the child is not 152.  Mind mapping refers to
studies EEITUE'I%Q? memorised the answers WW@W%
e e 7 properly T B W (@) atechnique to enhance (b) a plan of action for an
@Tﬁﬁmﬂﬁ% comprehension THY adventure Wm
(©) the child should have  (d) the system has failed M & fw T &1 & fore uss gieAT
taken private tuition T Wﬁmg‘rw% GEiCd
3l ﬁ\-:haqsaq G| (c) drawing the picture of (d) researching the function
qIfRQ T mind T & TR of mind 79 & ST W
LCiEE]l MY HAT
147. In the context of education, socialisation means
fRren & el A quTSHIHR HT AaTT § 153.  Which of the following is considered a sing of motivated
(@) always following social ~ (b) creating one's own teaching ?
norms social norms 349 W4 A I f&a wRa Rreror 1 v =1 AT ST
AFEST HT Te= HRAT & ATHIS ATEST BT L1
fAmfor (@) Maximum attendance in (b) Remedial work given by
(c) respecting elders in (d) adapting and adjusting the class P& & the teacher fRI&I® GRT
societymﬁ:aﬁﬂ to social environment Siftrean sufRufa & a1 STARTES
T HAT qraravor § Cau
S ECIE] 3R g (c) Questioning by students (d) Pin drop silence in the
[ ¥ goars class w&m ® fUs gTa
148. The qualities which children get from their parents are GIEL L)
called
%gma’raa‘rﬁmmﬁmﬁm@ﬁ% G%WT 154.  What is the importance of religion in the socialisation of
EIGI any child ?
(@ cland (b) heredity STIaRIEHdT et ot 7= & quTSiewur & enf &1 7T Hewa 87
(c) atmosphere HTQTISH (d) None of these 37-“?[ E | (a) %quotto GI'IE'!ZTHFRI & (b) To follow T ST
(©) To rite HEPR HIAT (d) Al of these & Tt
149. In a teaching learning process, factors related to content
are 155.  According to Piaget's theory, children learn by
TP fRigr Hem i uferar & wrnf @ Teltea oRe § id & IJUR, T WiEd &
(@) nature of contents (b) selection of contents (@) memorising information (b) scaffolding provided by
%rm‘sﬁaﬁwﬁr |l &1 99+ by paying due attention more able members of
(c) organisation of contents (d) All of these J gt o+ a'Cb_{ GCRL Eﬁ'q'l'c.’ the society A &
At BT e ELCE P Hew A §RT
Y $1 TS 74
150. Motivated behaviour of a learner (c) the processes of (d) changing their
e Rremdf &1 Ufva R adaption SIJH e ot behaviour when offered
(@) motivates the earner (b) acts as an energiser Y EIﬁWTI'{ appropriate rewards
HUM ard B IR TASISeR & ¥ # s RER
FRATE FRATS ISR PR THT STH
(©) itisagoal directed &  (d) All of these & HH} AER B! g1
e R aeg &
Mob. - 01141676717,9312712114 Page 14




156.

(@]

157.

(@]

158.

(@]

159.

(a)

(@]

160.

(a)

161.

SCHOLARS ACADEMY

Teachers use real objects to teach young learners new
words because
a1 WieH 914 ¢ W=5| &1 Rraq & o fRiae
TP IEg3il BT ITERT Hd & FifP
it helps in teaching the  (b) teacher can teach
correct spelling of words vocabulary only through

g 3] B T ad-1t objects fR1e&I® Haa
e A agg wrar g qEge & wreEH |
Tgrad! Rt 9%a §

young learners are not  (d)
capable of abstract

thinking gaT A& ara
3y | & fore werw
T

it helps learners
associate words with
objects they see in real
dreA arell &
STagN AT &
wag pRar g forg @

A teacher can identify a stressed child when the child
shows the following behaviour.

T R8P TP dHITUR 9= B| UgdH HR APdl & o9

e Frafofea saeR fewmar 31
Aggressive behaviour (b) Full concentration in
STHTD HTTR study 3rera=T § quf
USRIl

(d) Hyperactivity afssaar

Excessive talking
3 fre I1d BT

A student comes late in your class. Then, you will do

TP FH&T F TP BT X ¥ 3T 31 fbe, 3my w3
do nothing W'ﬂﬁﬂ)‘-ﬁ (b) say thanks to him 39

YIATE Hg
inform to parents HIAT-  (d) try to know the reason
fUraT &) gfua &% g@r WA Bt IR

If students are unable to follow you, you should

Tfe BT SATUST IRV H1 | g § Y muapt
G

make the matter easy
1 T HA
(d) Al of these T |t

give them prompt 3T (b
RUEE

illustrate with example

ISTeRU Afgd qa13g

While teaching a complex thing, which of the following
will be the best way to do it ?

e wfed a1d Rrama 3wy, e 4 o ar ader s

P BT AT DT AP I?

To use notes only Had (b) Present picture ﬁm%
TR

e BT ITART HA &
ferg

Show a chart of human  (d) To organise a discussion

skeletal system HIFG Wiﬁﬁ STaiforg &
HHTA YOS BT TH ¥ for
=1é ey

YRd ¥ e e & fre 9g-wdig smatsn
o ® IEad TR 177

Mob. - 01141676717,9312712114

What is the highest level in the multi-level planning
framework for community development in India?

(a) XT¢ (b) Mg
Nation Village
(¢ forem (d) =°
District State

162.  Trgn o1 favde Rigia fads gt e war are

By whom was the efficiency theory of education given?

(a) AT (b) urcdgs

Macaulay charles \\/’vood

(0 WIS (d) gale

sergeant Abbott

163.  gAwDI (UNESCO) Aearge g efifas srdww

YW IR Ha IUANT forar T
When was UNESCO satellite directed television program
first used?

(@) 1926 (b) 1959

() 1961 (d) 1965

164. R&INOP HTIIER BT BT P 3-

The main function of educational computer is —

(a) I @l fRwma (b) a3 BT TIE
calculation of answers collection of information
(€ TP faxavor d) SwWIF bt

Analysis of data All of the above

165. HIER ATAS fHd UR T 87

What is computer language based on?

(a) & UFA b Reusfa
numbgr system Sign system ]
(© %@ uGfd (d) TTH I PIS AL
chain method none of these

166. T Ie=T FT8?

What is knowledge objective?

(a) Ug HaY, WU, (b) ug ot safda 1
JGIUT, ISTERT 3R IqH ATaTgH TS
TTATAHIT B T/ P RT PP ATARD
& evarsi &) faefia TR &t fAaiford s
%ﬂﬁ?aﬁm%mm gﬁm%mmm

[ |

This is achieved by
developing the abilities to
see relationships,
discrimination, citation,

This can be achieved by
employing intrinsic
motivation by satisfying the
highest needs of an

examples and generalization. individual.

(0 UEURGIARAUFE  (d) T§ P, URBeu,
ranaii &t fawla SH 3R gatgaT=
P & forg g1l fvan 1 groarsi o fasfa
ST g FP RIS faar ST

This is achieved to develop %I

memory and recognition This is achieved by

abilities. developing the abilities to

reason, hypothesize, infer
and predict.
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167. SRV, AfHaafaT 3R Urpfamvor draq # fFafafaa
# ¥ forw ST 9§ Hafta 57
Imitation, expression and naturalization are related to
which of the following domains in learning?

SCHOLARS ACADEMY

@ 9 (by 12
(9 10 (d 6

173, ag-afer v- 9oft & o 3

‘Visually Impaired’ V- Category student

emotional sphere

(a) IYFTHS SAF @F) (b)) PG
cognitive domain skill area
(€) HTaTHS &F HETE® &

psychomotor field

168. Ied & U@ Bt Ufd #, PH-HI Aiera
HHEATHSGAT/IAE TATHdl $I ST 82
In Kolb's method of learning, which brief represents
conceptualization/direct experimentation?

(a) SfHAR® (b) SUHURD
convergent divergent

( fRre (d)

elegant adjuster

169. Pied & UG B Ufd & AR, WIS AFATHD
TP .  UTaT ST 8-
According to Kolb's method of learning, the most
cognitive method is found in...

(@) FHTENS (b) SATAR®
Adjustment divergent

© TRy d) SRS
elegant convergent

170.  FufafEa § & S-30 wrdie gfe e
yRUTRITR & forg w82

Which of the following stabilization strategies is useful
for long term retention?

(a) UHYS (b) FEHTRET
quiz Participation

(c) SIvrd (d) HeTP
Study Evaluation

171. A9 MNP & AR Fufafaa § 3 fPa R &
HIH T TP T YT & fqerg & wifa Sedr 2|

1. ST YTy

II. FTHTTE HTTOT

111, SfTaf¥e HTSTOT

According to Lev Vygotsky, which of the following stages
help a child to progress the developing language
functions?

|. Egocentric speech

II. Social speech

Il. Inner speech

@ 3R (b) 18RI

| and Il land Il

© 1l 3fRuI d) I, 13RI
Il and IIl I, 11 and 1l

172. W-Fpa a9 & RE AT ... a9 P} 3g A U A
@MH, B, TaT HA, HUTS HA R Afret 33 &
YR fawfRra giedt 31

Pre-number concepts of matching, sorting, comparing,
ordering and subsidzing develop during pre-school
years i.e. before the age of ...... year

Mob. - 01141676717,9312712114

(a) T wR & sl Age
fref aTfee

Should be exempted from

low level work

(€ P&TH ATHNI TAER
g s anfe aur
SHifSa et & ATy
 weTgar &t S 91RY

There should be normal

behavior in the class and

assistance should be given
through audio CDs.

(b) SfyvTa®l/ A grRT
3> e Fraf A
Heg firet arfee

Parents/friends should help

in his/her daily activities

(d) P&TH oy gagR
far s =i

deserve special treatment in

class

174. TR Srazgeddr T I= BT RS UG BT S

e

Education should be provided to children with special

needs —
(a) fa=iw faemerat o

in special schools

© 3T I g & 91y
with other normal children

175. PR URTY T Adad ©-

(b) foy faregreral # fay
Ryt g1

by special teachers in special

schools

(d) foiw faemmeral & foiw
vl & forg fasfira
gl R

By methods developed for

special children in special

schools.

Juvenile delinquency means-

(a) gaT 9=l &I Riféea
BTN

Educating young children.

() gar g gRT 3fea+

SRS Fd HIATI
Habitual criminal behavior by
young children.

) WG safeTal gRT 3Tqa
STRTYF FI BT
Habitual criminal acts by
adults.
(d) e dr B Rifda
HATI
Educating adults.

176. Gf¢ BIE B 3P A Ia 3R I1d H31 A oA g @Y

T TET T &-

If a student is unable to walk and talk properly, it is

called-
(@) TIATHD M&HCT
motor disability
(c) SHfeTH SrgrwaT
learning disability

(b) WP 3f&Adr
mental disability
(d) TE B A&

inability to walk

177. 18 &1 TR 9¢M P fore FaT o= @2

What is necessary to increase the level of education?

@) fﬁ%nfﬁdTaﬁranTRﬂ?
qeip

(b) freP ) IgaR aaT
&
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continuous assessment of pay teachers better salaries 183. frufafEa & @ war 3faa verR &1 Rien & g<d o o
students T8
() UTSUHH | "R (d) Wmaﬁ /R Which is not correct in the context of education of
HIAT CRIGI higher level?
to revise the curriculum improving school buildings (a) TP BT B TP (b) TP o1 B I Aol
W4 & ywTfad gel ai & T Wd BT
178.  BTEI & Tat eaiw & o frufafea o 3 few fafy SqAIP YT U | SAAIHT B aYUT
&1 wanT fopar s Tifge? oG PRdT | U H Heg PRaT 8|
Which of the following methods should be used for Helps each student to Helps every student to
proper assessment of students? observe and understand observe and understand
(@) vETH® (o=t (o) ddq g his/her own proposed values  them-selves in relation to all
qAip Continuous evaluation things
Formative (Developmental) (0 Td® Afed B 3T (d) Wwaﬁﬁ[&ﬁ?
Assessment SIEH GUTE & AR | Wfieq & I | qdofeud
0 PRIFAITAYTAEDT (d) TAD DHB W SR=® g1 # Hag EEIGEIERISEZE]
End of course evaluation i Prarel o Heg Hrar gl
Assessment every half year Helps everyone to become Helps students to get
aware of its contracting knowledge from conceived
179. U IUf~d UfafhaTd s Uy SIS GRT ... ®t effects ideas about teacher life
STaLaSHdl &1
A selected response question requires students to ........... 184. TN SR fFrafafaa & Q S=-ar FYE T %?
(@) el SIare P71 fAaHtor (b) HF FAHTIATSH A T 1. 3ftrTH Ft T B IR Fud Afpa g &
CE | correct from many AR Y™ H+ A1
to construct the correct possibilities ||.aaﬁaﬁ§ﬁma?aﬁﬁaﬂawmﬁn‘1%aa=lﬁaﬁ
answer ddddl ﬁT-fT ?IT%EI
(©) Hﬁ\_ﬂﬁlﬁﬂﬂe{ (d) Hﬁ\_ﬂﬁa’ﬁﬁw Which of the following statement is correct according to
identify the correct answer CaE| Gandhi?
to elaborate on the correct . Providing learning opportunities to children to be
answer physically active .
II. Children should have the freedom to create their own
180. BT & 3ffta I (acquired knowledge) PG BA P models of knowledge about the world .
fore yakr & <t o et wfaf 8- (a) Faall (b) Fad|
The technique used to check the acquired knowledge of Only Il Only |
students is — (© |t d) TGIAT
(a) T\&&‘I’Wﬁﬁl (b) e fafy | and Il both Neither | nor Il
test method purpose method
(© weRR fafy (d) Frdtemor fafdr 185.  WTUf¥eh TR & T S I UreusHd A giar1 82
question and answer method Inspection Method Which curriculum is applicable for primary level?
(a) SHBTGHID (b) HTHI HPIGHD
181. mmﬁﬁmaﬁvﬁf‘waﬁﬁ%w%mum academic general academic
AP-iTD! BT YUTT g, e FgT oI1ar §- (© TR (d)
Connecting with other schools and connecting with professional professional
students from different countries is the effect of
technology, which is called — 186. T fawpie | 1 ATad 87
(a) %eﬂmur (b) ?T@TI@_\"UT What is meant by knowledge explosion?
globalization nationalization @) FIUPR & AT (b) T YT B34 & forg
(© geed e (d) SFIHYT TSIl BT ey wgt W &1 geuahT
distance education Research ERREECED qﬁm’t% fT  Abuse of technology to gain
TgTe |EAT § UETgUl  knowledge
182, W TraT gEarh wygEl A g1 aRT sue T A 2
gpTad Haferiad d 9 f5g faarRyRT gRT &t wirdl 22 The development of such
‘All learning should take place in cooperative groups’ is human societies where
advocated by which of the following ideologies? sufficient quantity of quality
(@) WW@E (b) Wm knowledge is available to the
individual structuralism social constructionism majority of humans.
© TuY-fRIdh SRama (d) gayd SvamErg (€ B G I B d) TRrem & 91 &1 St
anti-social structuralism fundamental structuralism SUTsHdT JUERT
availability of knowledge excessive use of knowledge
Mob. - 01141676717,9312712114 Page 17




in education

187.  Wrpra fRuam Hifa (NPe), 1986 A Frufafed 9 @ fras
T ‘THied sriew faefa H37 &1 gana & ar
The National Policy on Education (NPE), 1986 suggested
developing ‘Integrated Programme’ for which of the

everywhere

following?

(a) TSP AR TSBA B (b) AFRIS =4 & fawai
wean & ferg @1 e & forg

For co-education of boys and  For the education of the

girls mentally handicapped

(© foeams=idfafa o) el s Ry
gl # ugH & frg wdl # ugq & frg

For children with disabilities
to study in special schools

188. 3 UTUfH® WX W WIS fai= & W4 WR (A),
(B) 3MR (C) FYI X fIaR FHMT- (A) 9% 39~ ramavor
B AR BT 3 § (B) TT ARN & Tw=i 3R I
s frRar &1 sreagq § () 97 Srdia SR adaE &
Y FrE=I BT 3eay= 8| Iudad HY=1 H A gad
St fdwea &1 9949 T

Consider the statements (A), (B) and (C) on the nature of
social science at the upper primary level: (A) It is the
study of people in their environment (B) It is the study of
people's relationships and their interdependence. (C) It is
the study of relationships with the past and present.
Select the most appropriate option from the above

For children with disabilities
to study in regular schools

statements.
(@) (A), (B) 3R (Q) (b) (A) 3R (B)
(A), (B) and (C) (A) and (B)
(© (B) SR (Q) (d) (A SR (©
(B) and (C) (A) and (C)

189.  NCF-2005 & JHR, g=di/ae :
As per NCF-2005, children/children :

(a) HAUPUEHd (FHR) (b) URIAW Y AEa 2
Wsﬁamﬁrﬁ Learn from the environment.
&HaT gt 21

There is an inborn ability to
acquire language.
(0 armt & e F

Learn from peers.

d) P Riféra foar s
By

should be educated.

190. fire-3 Wi URIH &1 A T UI?

What was the importance of mid-day meal programme?

(a) UE TP WUSRY (b)
Srfrfray Tl fRren & foe
SMYR W U= BT

It was a charitable act.

SCHOLARS ACADEMY

191, wmwm$mmmﬁw%

The functions of Parent Teacher Association are all of

the following, except —

(a) WIAT-RaT @t uriiet (b)) oo Hifeal uR wrmst
¥ fafira ugqai &1 >

To advise on school policies.

WiTed B & |

To encourage various aspects
of parental involvement.

() UTSTPHAEMYA DT  (d) Tpd ARMET A
LEIEKE ! Waftra fawat uR ==t
To suggest amendments in STaIford Fe 1

the curriculum. To organize discussions on
topics related to school

discipline.

192,  Fafafea 4 9 9t voa = § oo Riee o
merfvar § Ram-
All of the following are the responsibilities of a teacher in
school administration, except:

@) o fae & fae (b) 3T Tl & TqTY
forfta @rv gffa TR, Wt 3R Tg-
crokdl TaTe B P

To ensure financial benefits
for self development.

© %?—dalﬁwﬁﬁumaﬁ
[

To attend school assembly.

To communicate, consult and
co-operate with other
members.

(d) eI, awg ar o=y

5D A UFT A &
Attend staff, group or other
meetings.

193. e & @ oF-a1 s-urafe wiferaty uierr &1 ary
T e?
Which of the following is not an advantage of non-
parametric statistical testing?

(a) SHBT ITANT aHI FaT
2 99 sifme Joft a1
FEUADAR

It is used only when the data

is in the form of a category or

class.

(0 SIFHSI 90 & YT
¥ F1a9g 4 UeD
HyTAS AT BT faazor
T 314 &

They provide accurate

probabilities regardless of the

shape of the population
distribution.

(b) STHT SUURT TGI g1 &
STe1 uTafere T&mr
SUYT §1d ¥

They are used where

parametric tests are

appropriate

(d) 9y e S u
fITed i 87

Are they less powerful than

parameter tests?

() O ST ATSC DI HH
PATI
To reduce student drop out.

Tackle malnutrition and also
provide the basis for nutrition
education.

(d) BT P T FGHTI
Increasing the number of
students.
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194,  WPdiAe TR o 999 P faeRa o1 & Rig
Frafafea # & 9e% Sfua ureaw =i Surm™ #1
gfai
Choose the most appropriate curricular approach from
the following to develop understanding of democratic
institutions.

(a) arafde A F Y (b)  3mexf fRyfaat &1 g=if=n
arrasf@rﬁrﬁmtrﬁ represent ideal conditions
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SCHOLARS ACADEMY

Al g d dAT (@) Able (b) Incompetent
Presenting examples in ideal (c) Fit (d) Competent
situation along with real
situations 199. AT B! TP Wgayul fA=Awar 3-
(0 =&I¥®U 3| ?Tgl'q (d) ﬁT&ﬂfﬁ P FOR An important feature of art is-

ISTERUN DI UK BT Trafa® fRufeai 9@ (a) UG JUTS BT UEPIA P! (b) Tg ATRITT BIA B
presenting primarily national uffra s T:g"‘\’l'faT%l aﬁﬁ%I
examples exposing learners to harsh It reflects the culture of the It's about individual skills.

real-world situations society.
() TEPOATFINTRI (d) TSP P IRA WS
195.  fpelt foraraary & fore Tygg s91Td g€ AT Sreaa= It's about something. FO 8l

%ﬁr&maﬁmﬁqﬁsa‘s’— It's all about nature.

While forming groups for any activity, the social studies

teacher should — 200. Sicifie Wal &1 3T T &7
(a) Fada awm 3R (b) Wt ufasnfray #t What is the purpose of Olympic Games?

e o 9gd 9 faerdf TUTRIET 3R JWeaT (a) WUUEH Al g MR (b) Uy oftd A s

| gfia s TR far s Hew@yul 2
Form only two groups with Ensure participation and ElHY Struggle is more important
many students in each cooperation of all The gold medal is the highest than victory.

participants and should be achieved.

© JRBARFasH- (d) ST 3B & JIFIAR © ufemdfeM FIBT1 (@) NN B Sha & Hea

asfeal & g Srel- TYE §91Y Ranking of competing D HEGH BT

3T B make groups according to countries. To make people feel the
Make sure there are separate their marks importance of winning.

groups of boys and girls

196. WU WX & Rrenfial & afes a9 ok 99gH &
fore Frrafafed & 9 5 sva/ore & e it
JTIRIHAT 37 1. R} 31 Ade fRufer ot wweri 2.

R Bt ATde gt 3R fezmai @t ") 3. wetwt ok
THd/AH B G 4. Thd/AUM & STIR WY 5T
CEIEI

Which of the following skills/skills need to be developed
in primary level learners to make and understand maps?
1. Understanding the relative positions of places. 2.
Understanding of relative distances and directions of
places. 3. Understanding symbols and scale 4. Making
clear drawings according to scale

(@) Had4 (b) 18MR2
only 4 1and 2
() ad3 (d) 1,28MR3
only 3 1,2and 3

197. ?wﬁgﬁﬁﬁqwmaﬁuﬁwﬁamm
|

S TP WA R fayr S 8-
Choose the word that can substitute the given sentence.
One who believes in one God.

(a) Rrge= (b) STHA YIT

Aristocracy Referendum

() THYRETE! (d) frear

Monotheist Blasphemey

198. 39 g B g1 il fd ¢ 71eg & faudtards 3-

Proficient
Choose the word that is opposite in meaning to the
given word.
proficient
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